R RAMMMID 5

221 5OG Yamaha MT-09 SP Belly Pan

Kit Includes:

1X Panels (pair + centre part)
4X Brackets

2X Metal Netting 190mm X 80mm
4X M5 Plastic Washers

4X Mé6 X 20mm Bolts

4X M5 X 15mm Bolts

4X M5 Nuts

1X M6 Lugnut

4X Grommets

200mm 3M Tape
e Metal Netting (optional) can be fitted using silicone as shown in Fig 1.

® Fif the brackets to the bike as shown in Fig 2 & 3.
Don't tfighten fully so that adjustments can be made during later steps.

® Fif the grommets to the Belly Pan. You will need to remove the steel collars temporarily in order to
do this. Make sure the flange on the steel collar is facing outwards.

® Assemble the 3 pieces of the Belly Pan using the 3M Tape (pre-attached) and with the M5 X 15mm
Bolts, M5 Plastic Washers & M5 Nuts.

® The Belly Pan is mounted to the brackets using the Mé X 20mm Bolts.

® Tighten up all mounting points and check clearance of the Belly Pan around the bike.

Cut and adjust the

Metal Netting to
achieve a good fit.

Fit with Mé Lugnut

Got questions?
sales@pyramid-plastics.co.uk
+44 (0)1427 677990

www.pyramid-plastics.co.uk

You

Follow us on social media and feel free to leave us a review!



